

A CERTAIN CLASS OF ANALYTIC FUNCTIONS DEFINED BY RUSCHEWEYH DERIVATIVES

S. K. LEE AND S. B. JOSHI

ABSTRACT. This paper deals with a class $H_{\lambda}^b(A, B, \alpha)$ of analytic functions and we obtain coefficient estimates and related results.

1. Introduction and definitions

Let \mathcal{A} denote the class of functions given by

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \geq 0$$

which are analytic in the unit disc $U = \{z : |z| < 1\}$ and normalized such that $f(0) = 0, f'(0) = 1$. Also let S be the subclass of \mathcal{A} consisting of analytic and univalent functions of the form (1.1). We denote by $S^*(\alpha)$ and $K(\alpha)$ the subclasses of S consisting of all functions which are, respectively starlike and convex of order α in U ($0 \leq \alpha < 1$), that is,

$$(1.2) \quad S^*(\alpha) = \{f \in S : \operatorname{Re} \left(\frac{zf'(z)}{f(z)} \right) > \alpha, \quad 0 \leq \alpha < 1, \quad z \in U\}$$

and

$$(1.3) \quad K(\alpha) = \{f \in S : \operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > \alpha, \quad 0 \leq \alpha < 1, \quad z \in U\}.$$

Received June 6, 1998. Revised October 9, 1998.

1991 Mathematics Subject Classification: Primary 30C45.

Key words and phrases: analytic function, starlike of order α , convex of order α , Hadamard product, pre-starlike of order α , Ruscheweyh derivative.

The first author wishes to acknowledge the financial support of the Korea Research Foundation made in program year of 1998, Project No. 1998-015-D00022.

We use Ω to denote that class of analytic functions $w(z)$ in U , satisfying the conditions $w(0) = 0$ and $|w(z)| < 1$ for $z \in U$. In [8] Ruscheweyh introduced the class K_λ as follows. Denote $D^\lambda : \mathcal{A} \rightarrow \mathcal{A}$ the operator defined by

$$D^\lambda f = \frac{z}{(1-z)^{\lambda+1}} * f, \quad \lambda \geq -1, \quad z \in U$$

where the operation “ $*$ ” is the usual Hadamard product of the series. We note that $D^0 f = f$, $D^1 f = zf'$, $D^2 f = (f' + zf''/2)$ and

$$(1.4) \quad K_\lambda := \left\{ f \in \mathcal{A} : \operatorname{Re} \left(\frac{D^{\lambda+1} f}{D^\lambda f} \right) > \frac{1}{2}, \quad z \in U \right\}.$$

Let R_α be the class of pre-starlike functions of order α , that is, $f \in R_\alpha$ if and only if

$$f * \frac{z}{(1-z)^{2-2\alpha}} \in S^*(\alpha), \quad \alpha < 1, \quad \operatorname{Re} \left(\frac{f(z)}{z} \right) > \frac{1}{2}, \quad \alpha = 1, \quad z \in U.$$

Note that

$$S_\alpha(z) = \frac{z}{(1-z)^{2-\alpha}}$$

is a well known extremal function in $S^*(\alpha)$. Further, Ruscheweyh [9] observed that

$$(1.5) \quad f \in R_\alpha \text{ if and only if } \operatorname{Re} \left(\frac{D^{2-2\alpha} f}{D^{1-2\alpha} f} \right) > \frac{1}{2}, \quad \alpha \leq 1, \quad z \in U,$$

and in [12] Silverman and Silvia proved that $R_\alpha \subseteq S$ if and only if $\alpha \leq \frac{1}{2}$.

In [6] Aouf and Nasr introduced the class S_b of starlike functions of complex order b ($b \neq 0$), that $f \in S_b$ if and only if

$$(1.6) \quad \operatorname{Re} \left(1 + \frac{1}{b} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right) > 0, \quad z \in U.$$

The class K_λ and various other subclasses have been rather extensively studied by Sheil-Small et al., [11], Schild and Silverman [10], Al-Amiri [4, 5], Ahuja and Silverman [2, 3], Ahuja [1]. Motivated especially by the work of Ahuja [1], we aim at presenting here a systematic study of the class $H_\lambda^b(A, B; \alpha)$, which provides a unified approach for the classes considered by Ruscheweyh [8], Aouf and Nasr [6], Ahuja [1], and others [4, 5, 12, 13].

DEFINITION. A function f of \mathcal{A} belongs to the class $H_\lambda^b(A, B; \alpha)$ if

$$(1.7) \quad 1 + \frac{\lambda + 1}{b} \left(\frac{D^{\lambda+1}f}{D^\lambda f} - 1 \right) \prec \frac{1 + (B + (A - B)(1 - \alpha))z}{1 + Bz},$$

where $z \in U$, $-1 \leq B < A \leq 1$, $0 \leq \alpha < 1$, and “ \prec ” denotes subordination.

Equivalently, a function f of \mathcal{A} belongs to $H_\lambda^b(A, B; \alpha)$ if and only if there exists $w(z) \in \Omega$ such that for $z \in U$,

$$(1.8) \quad 1 + \frac{\lambda + 1}{b} \left(\frac{D^{\lambda+1}f}{D^\lambda f} - 1 \right) = \frac{1 + (B + (A - B)(1 - \alpha))w(z)}{1 + Bw(z)}.$$

2. Main theorems

Our first result provides coefficient estimates for a function f to be in $H_\lambda^b(A, B; \alpha)$, but before that we state a following result which we are going to use.

LEMMA 1 [7]. Let

$$g(z) = \sum_{p=q}^{\infty} d_p z^p, \quad G(z) = \sum_{p=q}^{\infty} D_p z^p, \quad q \geq 0.$$

If $g(z) = w(z)G(z)$, where $w(0) = 0$ and $|w(z)| < 1$, $z \in U$, then $d_q = 0$ and

$$\sum_{p=q+1}^k |d_p|^2 \leq \sum_{p=q}^{k-1} |D_p|^2, \quad k = q + 1, q + 2, \dots$$

THEOREM 1. For a fixed integer $m(m \geq 3)$, let

$$M_j = \frac{|(A - B)b(1 - \alpha) - (j - 2)B|^2}{(\lambda + j - 1)^2}, \quad j = 2, 3, \dots, m,$$

and

$$\begin{aligned} C(\lambda, p) &= \frac{(\lambda + 1)_{p-1}}{(p - 1)!} \\ &= \frac{(\lambda + 1)(\lambda + 2) \cdots (\lambda + p - 1)}{(p - 1)!}, \quad p = 2, 3, \dots \end{aligned}$$

Then

$$\begin{aligned}
 (2.1) \quad & \left(\frac{1}{(m-1)C(\lambda, m)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \left. + \sum_{p=2}^{m-1} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 \prod_{j=2}^p M_j \right\} \\
 & = \prod_{j=2}^m M_j.
 \end{aligned}$$

PROOF. We prove (2.1) by the method of mathematical induction on m . The equality (2.1) holds for $m = 3$. Assume that (2.1) is true for $m = 4, 5, \dots, t-1$. Then for $m = t$, the left side of (2.1) gives

$$\begin{aligned}
 & \left(\frac{1}{(t-1)C(\lambda, t)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \left. + \sum_{p=2}^{t-2} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 \prod_{j=2}^p M_j \right. \\
 & \left. + (|(A-B)b(1-\alpha) - (t-2)B|^2 - (t-2)^2) (C(\lambda, t-1))^2 \prod_{j=2}^{t-1} M_j \right\} \\
 & = \left(\frac{1}{(t-1)C(\lambda, t)} \right)^2 \left\{ ((t-2)C(\lambda, t-1))^2 \prod_{j=2}^{t-1} M_j \right. \\
 & \left. + ((\lambda + t - 1)^2 M_t - (t-2)^2) (C(\lambda, t-1))^2 \prod_{j=1}^{t-1} M_j \right\} \\
 & = \prod_{j=2}^t M_j.
 \end{aligned}$$

Hence the theorem is proved. □

THEOREM 2. Let $f \in H_\lambda^b(A, B; \alpha)$, and $f(z) = z + \sum_{k=2}^\infty a_k z^k$, $z \in U$. Then

$$(2.2) \quad |a_2| \leq \frac{(A - B)|b|(1 - \alpha)}{\lambda + 1},$$

and if $|(A - B)b(1 - \alpha) - B| \leq 1$ and $k \geq 3$, then

$$(2.3) \quad |a_k| \leq \frac{(A - B)|b|(1 - \alpha)(k - 2)!}{(\lambda + 1)_{k-1}}.$$

Furthermore, if $|(A - B)b(1 - \alpha) - (k - 2)B| > (k - 2)$, $k \geq 3$, let

$$(2.4) \quad M = \left[\frac{|(A - B)b(1 - \alpha) - (k - 2)B|}{k - 2} \right]$$

be the largest integer less than or equal to the expression within the square bracket. Then

$$(2.5) \quad |a_k| \leq \frac{1}{(\lambda + 1)_{k-1}} \prod_{j=2}^k |(A - B)b(1 - \alpha) - (j - 2)B|$$

for $k = 3, 4, \dots, m + 2$ and

$$(2.6) \quad |a_k| \leq \frac{(k - 2)!}{(m + 1)!(\lambda + 1)_{k-1}} \prod_{j=2}^{M+3} |(A - B)b(1 - \alpha) - (j - 2)B|$$

for $k > M + 2$.

The bounds in (2.2), (2.3) and (2.5) are sharp for all admissible values of b , λ , A and B , and for each k .

PROOF. Using (1.7), we have

$$(2.7) \quad 1 + \frac{\lambda + 1}{b} \left(\frac{D^{\lambda+1}f}{D^\lambda f} - 1 \right) = \frac{1 + (B + (A - B)(1 - \alpha))w(z)}{1 + Bw(z)}$$

$z \in U$, $w \in \Omega$. Simplifying (2.7) we have

$$\begin{aligned} & (\lambda + 1)(1 + Bw)D^{\lambda+1}f \\ & = \{(\lambda + 1) + ((A - B)b(1 - \alpha) + (\lambda + 1)B)w\}D^\lambda f \end{aligned}$$

that is,

$$(2.8) \quad (\lambda + 1)(D^{\lambda+1}f - D^\lambda f) \\ = \left\{ ((A - B)b(1 - \alpha) + (\lambda + 1)B)D^\lambda f - B(\lambda + 1)D^{\lambda+1}f \right\} w(z).$$

As

$$D^\lambda f = z + \sum_{p=2}^{\infty} C(\lambda, p)a_p z^p$$

and

$$C(\lambda + 1, p) = \frac{\lambda + p}{\lambda + 1} C(\lambda, p),$$

it follows that (2.8) is equivalent to

$$\sum_{p=2}^{\infty} (p - 1)C(\lambda, p)a_p z^p \\ = \left\{ \sum_{p=1}^{\infty} ((A - B)b(1 - \alpha) - (p - 1)B)C(\lambda, p)a_p z^p \right\} w(z)$$

where $a_1 = 1$. Making use of Lemma 1, we have

$$\sum_{p=2}^{\infty} (p - 1)^2 (C(\lambda, p))^2 |a_p|^2 \\ \leq \sum_{p=1}^{k-1} (|(A - B)b(1 - \alpha) - (p - 1)B|^2) (C(\lambda, p))^2 |a_p|^2$$

which leads to

$$(2.9) \quad |a_k|^2 \leq \left(\frac{1}{(k - 1)C(\lambda, k)} \right)^2 \left\{ (A - B)^2 |b|^2 (1 - \alpha)^2 \right. \\ \left. + \sum_{p=2}^{k-1} (|(A - B)b(1 - \alpha)B|^2 - (p - 1)^2) (C(\lambda, p))^2 |a_p|^2 \right\}$$

for every $k = 2, 3, \dots$. For $k = 2$, we get

$$|a_k|^2 \leq \left(\frac{(A - B)|b|(1 - \alpha)}{\lambda + 1} \right)^2,$$

which implies (2.2). Let

$$|(A - B)b(1 - \alpha) - B| \leq 1, \quad k \geq 3.$$

Then it follows that

$$|(A - B)b(1 - \alpha) - (k - 2)B| \leq k - 2, \quad k \geq 3.$$

Since all the terms under summation in (2.9) are non-positive, we get

$$|a_k| \leq \frac{(A - B)|b|(1 - \alpha)}{(k - 1)C(\lambda, k)}, \quad k \geq 3$$

which establishes (2.3). However, if

$$|(A - B)b(1 - \alpha) - (k - 2)B| > k - 2, \quad k \geq 3,$$

then all terms under summation in (2.9) are positive. We prove (2.5) for integer $k \geq 3$ and $k \leq M + 2$, from (2.9), by mathematical induction. For $k = 3$, (2.9) contributes,

$$|a_3|^2 \leq \frac{(A - B)|b|(1 - \alpha)|(A - B)b(1 - \alpha) - B|^2}{(\lambda + 1)(\lambda + 2)}$$

which proves (2.5) for $k = 3$.

Suppose that (2.5) holds for $k = 4, 5, \dots, m - 1$. Then for $k = m$,

(2.9) yields

$$\begin{aligned}
 & |a_m|^2 \\
 & \leq \left(\frac{1}{(m-1)C(\lambda, m)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \quad \left. + \sum_{p=2}^{m-1} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 |a_p|^2 \right\} \\
 & \leq \left(\frac{1}{(m-1)C(\lambda, m)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \quad \left. + \sum_{p=2}^{m-1} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) \right. \\
 & \quad \left. (C(\lambda, p))^2 \prod_{j=2}^p \frac{|(A-B)b(1-\alpha) - (j-2)B|^2}{(\lambda+j-2)^2} \right\} \\
 & = \prod_{j=2}^m \frac{|(A-B)b(1-\alpha) - (j-2)B|^2}{(\lambda+j-2)^2},
 \end{aligned}$$

by Theorem 1, and it is very easy to prove (2.5) holds for $k \leq M+2$.

Lastly, suppose that $k > M+2$. Then we can write (2.9) as

$$\begin{aligned}
 & |a_k|^2 \\
 & \leq \left(\frac{1}{(k-1)C(\lambda, k)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \quad \left. + \sum_{p=2}^{m+2} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 |a_p|^2 \right. \\
 & \quad \left. + \sum_{p=M+3}^{\infty} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 |a_p|^2 \right\} \\
 & \leq \left(\frac{1}{(k-1)C(\lambda, k)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\
 & \quad \left. + \sum_{p=2}^{m+2} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) (C(\lambda, p))^2 |a_p|^2 \right\}
 \end{aligned}$$

$$\begin{aligned} &\leq \left(\frac{1}{(k-1)C(\lambda, k)} \right)^2 \left\{ (A-B)^2 |b|^2 (1-\alpha)^2 \right. \\ &\quad \left. + \sum_{p=2}^{m+2} (|(A-B)b(1-\alpha) - (p-1)B|^2 - (p-1)^2) \right. \\ &\quad \left. (C(\lambda, p))^2 \prod_{j=2}^p \frac{|(A-B)b(1-\alpha) - (j-2)B|^2}{(\lambda+j-2)^2} \right\} \\ &= \left(\frac{(M+2)C(\lambda, M+3)}{(k-1)C(\lambda, k)} \right)^2 \prod_{j=2}^{m+3} \frac{|(A-B)b(1-\alpha) - (j-2)B|^2}{(\lambda+j-2)^2}, \\ &= \left(\frac{(k-2)!}{(M+1)!(\lambda+1)\cdots(\lambda+k-1)} \right)^{2m+3} \prod_{j=2}^{m+3} |(A-B)b(1-\alpha) - (j-2)B|^2 \end{aligned}$$

by using Theorem 1, and thus (2.6) follows immediately from the above expression.

The equalities (2.2), (2.3) are sharp and are given by

$$f_k * \frac{z}{(1-z)^{\lambda+1}} = \begin{cases} z(1+Bz^{k-1})^{\frac{(A-B)b(1-\alpha)}{B(k-1)}}, & B \neq 0 \\ z \exp\left(\frac{Ab(1-\alpha)z^{k-1}}{k-1}\right), & B = 0 \end{cases}$$

where $|(A-B)b(1-\alpha) - B| \leq 1$.

The inequality (2.5) is sharp for

$$f * \frac{z}{(1-z)^{\lambda+1}} = \begin{cases} z(1+Bz)^{\frac{(A-B)b(1-\alpha)}{B}}, & B \neq 0 \\ z \exp(Ab(1-\alpha)z), & B = 0 \end{cases}$$

if $|(A-B)b(1-\alpha) - B(k-2)| > k-2, k \geq 3$. □

References

- [1] O. P. Ahuja, *On the generalised Ruscheweyh class of analytic functions of complex order*, Bull Austral Math. Soc. **47** (1993), 247-257.
- [2] O. P. Ahuja and H. Silverman, *Function classes related to Ruscheweyh derivatives*, J. Austral Math. Soc., Ser. A **47** (1989), 438-444.

- [3] ———, *Convolutions of pre-starlike functions*, Internat. J. Math. Sci. **6** (1983), 59-68.
- [4] H. S. Al-Amiri, *On Ruscheweyh derivatives*, Ann. Polan. Math. **38** (1980), 87-94.
- [5] ———, *Certain generalization of pre-starlike functions*, J. Austral Math. Soc. **28** (1979), 325-334.
- [6] M. K. Aouf and M. A. Nasr, *Starlike functions of complex order*, Natur Sci. Math. **25** (1985), 1-12.
- [7] M. S. Robertson, *Quasi subordinate functions*, In Mathematical Essays dedicated to A. J. MacIntyre volume (Ohio University 1967, 331-340).
- [8] St. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc. **49** (1975), 109-115.
- [9] ———, *Linear operators between classes of pre-starlike functions*, Comment Math. Helv. **52** (1977), 497-509.
- [10] A. Schild and H. Silverman, *Convolutions of univalent functions with negative coefficients*, Ann. Univ. Marie-Curie. Sklodowska Sect. A. **29** (1975), 99-107.
- [11] T. Sheil-Small, H. Silverman and E. M. Silvia, *Convolution multipliers and starlike functions*, J. Analyse Math. **41** (1982), 181-192.
- [12] H. Silverman and E. M. Silvia, *Pre-starlike functions with negative coefficients*, Internat. J. Math. Sci. **2** (1979), 427-439.
- [13] E. M. Silvia, *Subclasses of pre-starlike functions*, Tamkang J. Math. **14** (1983), 161-169.

S. K. Lee

Department of Mathematics

College of Education

Gyeongsang National University

Chinju 660-701, Korea

E-mail: sklee@nongae.gsnu.ac.kr

S. B. Joshi

Department of Mathematics

Walchand College of Engineering

Sangli 416 415, India

E-mail: joshisb@wces.ernet.in